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1.1 Draw resonance structures for pyridine.
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ii. Explain why piperidine is more basic than pyridine.

ifi. Outline the reaction pathway of the Bischler- Napieralskic synthesis for the following

compound (use appropriate starting materials).
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ii.

Give the products of the following reactions.
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3. Giving necessary reagents and conditions show how you would carry any three (03) of the
following conversions.
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In plperldme sp hybndlzed Ol‘blt&l occuples unshared pair of electrons on N Its unshared pair of
electrons not delocalized But in plperldme nitrogen has high density of electrons as sp® S
hybrxdlzed orbital occupies unshared pair of electrons. This would results in more attractlon of

H" ions. Due to that ptperldme is more basic than pyrldme R T :
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